3 / 0

This Document Contains Proprietary Information
and is the property of TURNSTILE SECURITY
SYSTEMS INC.and shall not be reproduced,
copied, or used as a basis for the manufacture
of equipment without written permission.

FINTSH SEE PART DRG
DRILL_JIG N/ A
WELD _FIXTURE N/ A
VENDOR SEE PART DRG
PARTS LIST
| TEM|PART NO. DESCRIPTION MODEL _NAME RAW MATERIAL SIZE VENDOR INFO QTY \\\\\\Q\
| [WH3A-10] TOP COVER WH3ARM-GATE-TOP-COVER 16 GA(O.0625 IN) THK
2 [WH3A-10? INDEXING PAWL WH3ARM-GATE - INDEXING-PAWL - |
3 [WH3A-103 STANDARD WH3ARM-GATE- INDEXING-PAWL-BOLT 1/4-20 X 0.85 X 2 L-
4 [WH3A-105 STANDARD WH3ARM-GATE -MAIN-SPINDLE-NUT 5/8-18-2A UNF,0. 37THK | ~
5 [WH3A-105 STANDARD WH3ARM-GATE-MAIN-SPINDLE-WASHER | .625(1D)X 1(OD)X. 125THK
6 |WH3A-106 STANDARD WH3ARM-GATE-UPPER-BEARING BORE b IN
7 [WH3A-107 STANDARD WH3ARM-GATE-BEARING-HOUS ING-TOP 0.0625 THK
8 |WH3A-108 STANDARD WH3ARM-BEARING-HOUSING-BOLT 5/16-18UNCX0. 75L 2
9 [WH3A-109 STANDARD WH3ARM-BEAR ING-HOUSING-NUT 5/16-18 UNC 2
10 |WH3A-200| CABINET WELDMENT ASSY |  WH3ARM-GATE-CABINET-WELDMENT SEE PART DRG | \\\\\\\\\\\\\\\\
1 [WH3A-300 WH3ARM-GATE-BASE-PLATE-ASSY SEE PART DRG | _
12 |WH3A-400 ARM HOUSING ASSY WH3ARM-GATE - ARM-HOUS ING-ASSY SEE PART DRGY | DRAWN DATE MODEL :WAIST HIGH 3 ARM =
13 [WH3A-500 INDEXING ASSY WH3ARM-GATE- INDEXING-ASSY SEE PART DRG | GADP 10-Nov-03 TURNSTILE ASSY NAME :WH3ARM-GATE -MAIN-ASSY
14 [WH3A-600]  LOCKING-PAWL-ASSY WH3ARM-GATE-LOCKING-PAWL-ASSY SEE PART DRG | CHECKED DATE MATERTAL:SEE PART DRG
15 |WH3A-T00| INDEXING CAM ARM ASSY | WH3ARM-GATE-INDEXING-CAM-ARM SEE PART DRG | GUENTER SECURITY SYSTEMS INC |/ VATL WHE_E PART DR
16 |WH3A-800| SHOCK ABSORBER ASSY | WH3ARM-GATE-SHOCK-ABSORBER-ASSY SEE PART DRG | APPROVED DATE e aﬁﬁiﬁéﬁiEA*@ﬂEAmbAssv Rgv
|7 |WH3A-900 MICROSWITCH ASSY WH3ARM-GATE-MICROSWITCH-ASSY SEE PART DRG | PERRY dn+qrio, L47 360 CANADA SI7E | PART NO- ISCALE SHEET
18 [WH3A-1000]SOLINOID MOUNTING ASSY| WH3ARM-GATE-SOLINOID-MOUNT-ASSY SEE PART DRG | ALL DIMENSTONS SHOWN IN INCHES TEL: (905) 890-2222  FAX: (905) 890-3786 A2 WH3A-100 |0.250 | OF 4
3 | 0 J / 3 /




